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534. Itis possible for the premises of the deductmbe true, or to be false, or to be the one thepther
false. The conclusion is either true or false ng@ely. From true premises it is not possible tavdra false
conclusion; but a true conclusion may be drawn ffalee premises—true however only in respect tofélcg
not to the reason. The reason cannot be establfstiedfalse premises: why this is so will be expéd in the
sequel.

53°11. First then that it is not possible to draw ladaconclusion from true premises, is made cleahlsy
consideration. If it is necessary tlashould be whe# is, it is necessary thét should not be wheB is not. If
thenA is true,B must be true: otherwise it will turn out that tseame thing both is and is not at the same time.
But this is impossible. (Let it not, becausés laid down as a single term, be supposed thatpossible, when a
single fact is given, that something should neadégsasult. For that is not possible. For whatuies necessarily
is the conclusion, and the means by which this coal®ut are at the least three terms, and twoioetabr
propositions. If then it is true thatbelongs to all that to whicB belongs, and tha& belongs to all that to which
C belongs, it is necessary thatshould belong to all that to whigh belongs, and this cannot be false; for then
the same thing will belong and not belong at thmeséime. SAA is posited as one thing, being two premises
taken together.) The same holds good of negatideam®mns: it is not possible to prove a false cosidn from
truths.

53°26. But from what is false a true conclusion maydbewn, whether both the premises are false or only

one (provided that this is not either of the prasimdifferently, but the second, if it is takervdmlly false; but

if it is not taken as wholly false, it does not matwhich of the two is false). Lét belong to the whole o, but
to noB, neither leB belong toC. This is possible, e.g. animal belongs to no staoe stone to any man. If then
A is taken to belong to evely andB to everyC, A will belong to everyC; consequently though both the
premises are false the conclusion is true; for yewean is an animal. Similarly with the negativer Fois
possible that neithek nor B should belong to an§, althoughA belongs to everg, e.g. if the same terms are
taken and man is put as middle; for neither aninmal man belongs to any stone, but animal belongs/éoy
man. Consequently if one term is taken to belongawe of that to which it does belong, and the roteam is
taken to belong to all of that to which it does hetong, though both the premises are false thelgsion will
be true. A similar proof may be given if each preenis partially false.

At 53°30ff, Aristotle gives these two examples:

1. LetA=animalB = stoneC = man. Then we have an instancéafbara with false premises and a true
conclusion. AaB’ and ‘BaC’ are both false, butAaC' is true.

2.  LetA=animal,B = man,C = stone. Then we have an instanc€dfrent with false premises and a true
conclusion. AeB’ and ‘BaC’ are both false, but?eC’ is true.



